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01 At 22l 46,000 39,000 7,000
ORZEHASHI 46,000,000 46,000
J| 23,000
Al 23,000
307 21201 A 4,000 6,000 A 2,000
J| 2,000
Al 2,000
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M A=2 MY AHA X3
Sl RARABL CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2724l 4,000 6,000 A 2,000
ORLEAAMY ABEH| 4,000,000& 4,000
J| 2,000
Al 2,000
ZIE =S¥ W= ALY 32,340 32,340 0
< 22,638
Al 9,702
201 Let24d]| 1,540 1,540 0
< 1,078
Al 462
01 AP 2teltl 1,540 1,540 0
OZIE =Ssd XIWFI2AAY 2SI
1,540,000 1,540
< 1,078
Al 462
307 21201 A 30,800 30,800 0
< 21,560
Al 9,240
01 927 24| 30,800 30,800 0
OZJIE =SstM WA AHI(7702)
30,800,000& 30,800
< 21,560
Al 9,240
AL EEE L2 ALY 53,160 42,960 10,200
J| 26,080
Al 27,080
AL E2EE dg2AAME TS 1,000 1,000 0
201 LBt 1,000 1,000 0
02 2324l 1,000 1,000 0
OdzgaFe o2ty e X2
700,000& 700
ORER= 300,000& 300
NEAS SSALESIAMG(AMHMEER) (M2 50,200 40,000 10,200
Boolgatel)
J| 25,100
Al 25,100
201 Let24E] 27,200 35,500 A 8,300
J| 13,600
Al 13,600
01 At 22l 27,200 35,500 A 8,300
OdcgzFeol2el ArgHl 27,000,000 27,000
J| 13,500
Al 13,500
OL=H(E2%) 100, 000& »2H 200
J| 100
Al 100
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A2
=X

HE: Ae
Sl HAAYS AL CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 1,748,307 1,597,074 151,233
= 1,223,815
& 524,492
11T A EXAIEEX 1,748,307 1,597,074 151,233
OZAMNQAANELA2I (1 A) 1,748,307,000& 1,748,307
= 1,223,815
=} 524,492
HAQUAIE ESAX EL2RLE 115,850 104,800 11,050
= 11,585
Al 104,265
301 et A =2 64,200 53,150 11,050
& 6,420
Al 57,780
01 Al B & A 46 2 64,200 53,150 11,050
QOANEBEHAESAXN E4£222E X210
) 64,200,000 64,200
& 6,420
Al 57,780
307 giztol & 51,650 51,650 0
& 5,165
Al 46,485
o1 osed =4l 51,650 51,650 0
OYUAT 2EH & XN 51,650,000 51,650
== 5,165
Al 46,485
HAUQUAAEESHSH XS 2,000 2,000 0
o= 2,000
307 2I2t0| ™ 2,000 2,000 0
=} 2,000
11 A EXAIEEX 2,000 2,000 0
OFANQUUAAY SSHESH K (1MA)
2,000,000& 2,000
o= 2,000
HAEET JIIEYAXNREH S A& 36,600 36,600 0
301 dEtE M= 36,000 36,000 0
01 Al B & X 262 36,000 36,000 0
OJIEgAXRY § XA
100,000& *30H »12& 36,000
307 QI2t0| ™ 600 600 0
o1 s R=Hl| 600 600 0
O2cefelzH & XA 50,000& x1H ~12& 600
HAMNEEI XS XH 56,200 16,200 40,000
o=t 28,100
Al 28,100




A2
=X

EN
2 AlRlelg2 MHlA XI&
2

HE: Ae
Sl HAASBSTAL (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 56,200 16,200 40,000
< 28,100
Al 28,100
05 RIZHRI & 3 56,200 16,200 40,000
OFNESN BN S8 (422)
56,200,000& 56,200
= 28,100
Al 28,100
HAMZET X2 N(FAZEEH 2= XH) 5,950 4,976 974
= 2,975
Al 2,975
307 gl2tol & 5,950 4,976 974
= 2,975
Al 2,975
05 RIZHRIE 3 5,950 4,976 974
OFAMHET ZIIXg N& 5,950,000& 5,950
= 2,975
Al 2,975
JAEER AL SXAESALAL A& 16,800 14,400 2,400
< 16,800
301 LEEXZ 16,800 14,400 2,400
< 16,800
01 M3IBE X053 16,800 14,400 2,400
OFAMZET MIASTANESAMLE HRMHE X
2 (249) 16,800,000 16,800
< 16,800
INEFMALSXME KR (BAUALSXME2Y) 168,241 582,868 A 414,627
J| 21,535
< 22,040
Al 124,666
307 glz2+ol & 168,241 582,868 AN414,627
J| 21,535
= 22,040
Al 124,666
05 RIZHRI &t 3 168,241 582,868 AN414,627
OFMHLSXHE 2L (1HL)
168,241,000& 168,241
J| 21,535
< 22,040
Al 124,666
J=JAALEXNEEH HE= 290,586 254,268 36,318
J| 145,293
Al 145,293
307 glz2tol & 290,586 254,268 36,318
J| 145,293
Al 145,293
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=X
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2 AlRlelg2 MHlA XI&
2

HE: Ae
Sl HAAYS AL CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 290,586 254,268 36,318
OFMUHLSXHE AA&HF(7Y)
290,586,000 290,586
J| 145,293
Al 145,293
=T AL=XNEEH SAR A& 13,200 11,400 1,800
< 13,200
301 LEd = 13,200 11,400 1,800
< 13,200
01 MI2EZE +05l= 13,200 11,400 1,800
OFMALLTME EAT HLNAH KA (19
) 13,200, 000& 13,200
< 13,200
=AU =NEEH AU TASE KR 70,980 35,320 35,660
9] 35,490
Al 35,490
307 gl2tol & 70,980 35,320 35,660
J| 35,490
Al 35,490
05 BIZHRI & 3 70,980 35,320 35,660
OJEZZHUAZEXNNEEH XU TAY 29
70,980,000 70,980
J| 35,490
Al 35,490
FEHMAL S 38,280 78,280 A 40,000
J| 19,140
< 2,871
Al 16,269
307 21201 A 38,280 78,280 A 40,000
J| 19,140
< 2,871
Al 16,269
05 BIZHRI & 3 38,280 78,280 A 40,000
OFIHNALS AL 38,280
-2l Xl =8l X 360,000& »23H 8,280
J| 4,140
= 621
Al 3,519
-HUneleEd 3 Ag2d 30,000, 000& 30,000
J| 15,000
< 2,250
Al 12,750
OtsdEAad JAAZSA 13,300 0 13,300
J| 6,650
Al 6,650
307 i+l & 13,300 0 13,300
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2 AlRlelg2 MHlA XI&
2

HE: Ae
Sl HAAYS AL CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Pl 6,650
Al 6,650
05 QIZtR E S 13,300 0 13,300
OOtSHAHALSTA (142)
13,300,000 13,300
J| 6,650
Al 6,650
MAHAIE MOl HYX 40,000 40,000 0
= 12,000
Al 28,000
307 2iz2tol & 40,000 40,000 0
= 12,000
Al 28,000
05 QIZtR E 2 40,000 40,000 0
OMH AL MEolad HiXI(1H) 40,000,000 40,000
o= 12,000
Al 28,000
KA YEAMAHUSEAS 30,540 30,540 0
J| 15,270
Al 15,270
307 QI2+0 & 30,540 30,540 0
J| 15,270
Al 15,270
05 QIZtREZ 30,540 30,540 0]
OXRatoE & HAAUSEAIS (1H)
30,540,000 30,540
J| 15,270
Al 15,270
L Ol XHAHO B AFES 70,000 70,000 0
= 35,000
Al 35,000
307 gizto| A 70,000 70,000 0
= 35,000
Al 35,000
05 QIZtRES 70,000 70,000 0
OOl XA OlEtAY 2 MEtolad P X (1Y) 70,000
-MEola olAHI (1Y) 40,000,000 40,000
= 20,000
Al 20,000
- 0L XA Ol &AM HI 30,000,000 30,000
== 15,000
Al 15,000
Mo A2 X 2H| XS 4,200 4,200 0
o= 1,250
Al 2,950
307 212t0| & 4,200 4,200 0]
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2 AlRlelg2 MHlA XI&
2

HE: Ae
Hel: FAALBSIAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,250
Al 2,950
05 RIZtE = 4,200 4,200 0
OdIANY Xz Hl XA 4,200,000 4,200
< 1,250
Al 2,950
ZIOHXI 222 K (HEA) 128,039 110, 172 17,867
< 73,622
Al 54,417
307 21201 A 128,039 110,172 17,867
< 73,622
Al 54,417
01 9 2¥ 72| 128,039 110,172 17,867
OXIixI=22teldl XI&(781%) 128,039,000 128,039
< 73,622
Al 54,417
X0t ey 249 479,382 530,689 A 51,307
J| 383,507
< 14,381
Al 81,494
201 Yet2 | 370,382 427,233 56,851
J| 296,307
< 11,111
Al 62,964
01 At 2t 2l 368,442 425,793 A 57,351
OXIOHetA e 29l 367,392,000& 367,392
J| 293,915
< 11,022
Al 62,455
OXSAE XIMME2AM /& EHA
100,000 3% 23] 600
J| 480
< 18
Al 102
OmL=H(B2%) 150,000& *3H 450
J| 360
< 13
Al 77
02 =224l 1,940 1,440 500
OXIOHetMdle & KXl
60,0003 *2CH 123 1,440
J| 1,152
< 43
Al 245
OXIHetAHIE 2BHRF 500,000& 500
J| 400
< 15
Al 85
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2 AlRlelg2 MHlA XI&
2

HE: Ae
Sl HAASBSTAL (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
202 o4 | 2,000 2,000 0
J| 1,600
& 60
Al 340
01 2L HI 2,000 2,000 0
OXIOH&2AtE E2=80| 2,000,000& 2,000
J| 1,600
= 60
Al 340
301 dEtE M= 31,000 31,440 AN440
J| 24,800
= 930
Al 5,270
09 #HAIAHI XIS 2 31,000 30,840 160
OXIH&CIAIE T2 2AAIS
80,000 *3003&! 24,000
J| 19,200
= 720
Al 4,080
OXH&eIAIYE T2 9 s 2|
7,000,000& 7,000
J| 5,600
o= 210
Al 1,190
307 QI2t0| ™ 76,000 53,584 22,416
J| 60,800
& 2,280
Al 12,920
o1 o= 76,000 53,584 22,416
OXIHEN ZS=2E 7Y 60,000,000 60,000
J| 48,000
& 1,800
Al 10,200
OXIOHZg 2 AHl X 80,000 *200H 16,000
J| 12,800
= 480
Al 2,720
ANE23FA AL 2,479 2,169 310
J| 1,983
= 75
Al 421
201 et 9| 79 369 A 290
J| 63
= 3
Al 13
01 AR 2t2l ] 79 369 A 290
OdEAEIHE S 22| 79,000 x1H 79
J| 63




A2
=X

EN
2 AlRlelg2 MHlA XI&
2

BH: e
CHelr MAASBTAL (el @2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
= 3
Al 13
301 et A= 2,400 1,800 600
J| 1,920
= 72
Al 408
12 JIEtE2 A= 2,400 1,800 600
OXMBZ22FAHC E=H| 200,000 x 1 x12& 2,400
J| 1,920
= 72
Al 408
AN Y 2 3,614,274 2,095,416 1,518,858
= 814,602
J| 768,247
= 522,626
Al 1,508,799
2E8uY 22AMAHo 2= 469,410 700,364 A 230,954
= 20,400
J| 21,270
= 58,061
Al 369,679
graAasae ¥ 29Y s 174,866 181,494 ANB,628
101 2124 H| 106,726 104,954 1,772
04 JIZtHIZ22XNSE S 106,726 104,954 1,772
Ogosrsogy 106,726
-Jl=23 2,169,420 6 »8& 104,133
AR sEIISY 83,040& x6H x4 1,993
goisos M= S
100,000& »6H 600
201 et 12,760 12,760 0
01 AR 22l ] 5,000 5,000 0
OoZdEguy 24| 5,000,000& 5,000
02 2=2=24%H| 7,760 7,760 0
OxEdxEFdl 6,000,000& 6,000
ORJ| OHoH 2eEd olg KA I| 2 A EH| (DMS
EEPNE=E] 110,000 «2[H »8& 1,760
206 M = dl 51,380 51,380 0
01 X2 bl 51,380 51,380 0
o2y 9= L W2 49,300
-gtd o= o JIEtM =4I 40,000, 000& 40,000
-ME RSl 9,000,000 9,000
-StA22 X g EH S 300,000 300
OO0l 22X =AY 16,0003 *130kg 2,080
307 2I2t0| ™ 4,000 4,000 0
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L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 4,000 4,000 0
OF X dEis A 4,000,000 4,000
2 elelOF StE ALY 90,000 90,000 0
= 36,000
Al 54,000
201 Yot Y| 40,000 40,000 0
< 16,000
Al 24,000
01 AP 2t 2] H| 30,000 30,000 0
OZetelor & AY 23l 30,000,000 30,000
& 12,000
Al 18,000
02 E2=2=2%H| 10,000 10,000 0
OYAADET Y L ALZYIRK Y
10,000,000& 10,000
< 4,000
Al 6,000
206 M Hl 49,500 49,500 0
= 19,800
Al 29,700
01 X Z HI 49,500 49,500 0
O%etelor 2E ALY = Hl 49,500,000 49,500
= 19,800
Al 29,700
301 dEtE M= 500 500 0
= 200
Al 300
09 #HAIAHI XIS 2 500 500 0
OgdeAa Y S 500, 000& 500
= 200
Al 300
Z2E8ogds d92*E S 2L A& 25,000 25,000 0
o=t 10,000
Al 15,000
206 T 24 25,000 25,000 0
= 10,000
Al 15,000
01 =4l 25,000 25,000 0
OUGHUYE YAAE S WRPY
25,000,000 25,000
= 10,000
Al 15,000
DMZ, 22 & 2tiseddid 10,000 10,000 0
o= 4,000
Al 6,000
206 M = dl 10,000 10,000 0




A EA
& 2y
2+t
oo

el

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
< 4,000
Al 6,000
01 24 10,000 10,000
Oz, 220 S QRIS HETY
10,000, 000& 10,000
< 4,000
Al 6,000
S8 ALY 3,000 3,000
= 1,200
Al 1,800
307 glz2+ol & 3,000 3,000
< 1,200
Al 1,800
01 22724l 3,000 3,000
O3+=Z U A 3,000,000& 3,000
< 1,200
Al 1,800
2etelol RIEXE HAAMY 40,800 40,800
= 20,400
Al 20,400
201 LEr2 Y| 10,000 10,000
= 5,000
Al 5,000
01 At 22l 10,000 10,000
OZectelor AN SAAY AIR2elt]
10,000, 000& 10,000
= 5,000
Al 5,000
206 T2 HI 30,800 30,800
= 15,400
Al 15,400
01 MHZ 4l 30,800 30,800
OZectelor XS EAAY HEH
30,800,000& 30,800
= 15,400
Al 15,400
st TMRY HAIAY 1,200 1,200
< 480
Al 720
307 21201 A 1,200 1,200
< 480
Al 720
01 922724l 1,200 1,200
Ostalg 22| Ab e (1509) 1,200,000 1,200
< 480
Al 720
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2N
X ZH -
L= B

el

x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Jl 8,886
= 2,666
Al 6,220

201 Let24E] 14,012 6,000 8,012
J| 7,006
< 2,102
Al 4,904

01 At 22l 14,012 6,000 8,012
OZsHg stz At2tell 14,012,000& 14,012
J| 7,006
< 2,102
Al 4,904

202 44l 500 500 0
J| 250
< 75
Al 175

01 = LH 4 Hi 500 500 0
OZ#ASI T A S Wl 500,000& 500
J| 250
< 75
Al 175

307 glz2tol & 3,260 3,260 0
J| 1,630
< 489
Al 1,141

01 2224l 3,260 3,260 0
OZHAS T AH241H) 3,260,000 3,260
J| 1,630
< 489
Al 1,141

BHA S FER2ElA (C1248]) 100 87,790 A 87,690
J| 50
< 15
Al 35

201 et 100 0 100
J| 50
< 15
Al 35

01 At 2teltl 100 0 100
OL=H(B2%) 100,000& *1H 100
J| 50
< 15
Al 35

SALrBH2AAG (= BHAZX) 13,600 13,560 40
J| 6,800
< 2,040
Al 4,760




2N

22
a3y
plye:]
o o

ool EREEPEIEE CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 13,600 13,560 40
J| 6,800
< 2,040
Al 4,760
01 22272l 13,600 13,560 40
OLolZe AR (982Y) 13,600, 000& 13,600
J| 6,800
= 2,040
Al 4,760
D2LH9 BARAEH XS 20,000 62,000 A 42,000
307 glz2+ol & 20,000 62,000 A 42,000
01 922724l 20,000 62,000 A 42,000
OZ2LH9 H&L/AEH X= 40,000& «x500H 20,000
g9 2 ololxz2el 24,826 22,816 2,010
J| 10,913
Al 13,913
OOl =0l e Letate] 3,000 3,000 0
201 Let24E] 3,000 3,000 0
01 At 22l 3,000 3,000 0
oonolzueg 2= +&  1,500& +2,00004 3,000
olol= & e NXNMEZ(HOI=RSHAIETL) 4,008 4,098 0
J| 2,049
Al 2,049
307 gl2tol & 4,098 4,098 0
J| 2,049
Al 2,049
01 2224l 4,098 4,098 0
OO0IOI= &IEtAlSE R0 S 4,098,000& 4,098
J| 2,049
Al 2,049
flol= & Jgoe AXNMEZ(0oI=&X &=Hl) 17,010 15,000 2,010
J| 8,505
Al 8,505
307 glz2tol & 17,010 15,000 2,010
J| 8,505
Al 8,505
01 22724l 17,010 15,000 2,010
OOulol=& Xt X=H|(47F) 17,010,000& 17,010
J| 8,505
Al 8,505
o= & Sgole NAMEZ (8IS Al¥2Y) 718 718 0
J| 359
Al 359
307 21201 A 718 718 0




2N
X ZH -
L= B

el

CEIPS
DysMoy ¥ 2l
Se 2 olol =2zl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 359
Al 359
01 2724l 718 718 0
OodmHzgyd Z2a& & Xz 718,000& 718
| 359
Al 359
HegEs2el 3,120,038 1,372,236 1,747,802
= 794,202
J| 736,064
= 464,565
Al 1,125,207
A2 E S ALY 56,850 57,470 A 620
201 Let24d] 4,700 4,500 200
01 At 22l 4,700 4,500 200
O ERUX E2 ZTAH L WIE S QM
2,600,000& 2,600
OHedsE E2=23 5,000& *400H 2,000
QU EH(22A) 100,000& 1 100
307 glz2t0l & 52,150 52,150 0
NEEEEET 52,150 52, 150 0
OHAANE AB20T Y
11,0002 =1,300H 14,300
OUHYESE JIMM & A2 1,000,000 1,000
ORIHLES HalH| 36,850
-AE2EY BHAI(AOLE) 15,0002 1004 1,500
-AE2EY WA(H0E) 40,000& 5004 20,000
—Tdap 4l 20,000 *4004 8,000
—TdeH &l 13,000& 504 650
-BE2tY WA(HOE) 6,000& =1, 0004 6,000
-ZEIFEA A 5,000& *50H 250
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